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General Instructions :

(i) The question paper comprises of twe sections A and B. You afe to
attempt both the sections. |

(ii) Al[ questions are compulsory.

(iii) " There is no overall ckoice. However, internal choice has Ibeen

provided in all the three questions of five marks category. Only one

option in such question is to be attempted.



(iv)  All questions of Section A and all questions of Section B are to be

attempted separately.

(v)  Question numbers 1 to 4 in Section A are one mark questions. These

are to be answered in one word or one sentence.

(vi)  Question numbers 5 to 13 in Section A are two marks questions.

These are to be answered in about 30 words each.

(vii)  Question numbers 14 to 22 in Section A are three marks questions.

These are to be answered in about 50 words each.

(viii) Question numbers 23 to 25 in Section A are five marks questions.

These are to be answered in about 70 words each.

(ix)  Question numbers 26 to 41 in Section B are multiple choice
questions based on practical skills. Each question is a one mark
question. You are to select one most appropriate response out of the

Jfour provided to you.

HIT A
SECTION A
1. = feu e vekes s ie Aifies | 3ufedrd TehricHe: SHg ol T foifEy : 1
(i) CH5Cl (i) C,HsOH
Name the functional group present in each of the following organic
compounds :
(1) CHsCl (i1) C,HsOH

2. ToRHl UR T 9 @A W, FET RIS ATYAUSH T €, ST H T fe@ig ey

‘What will be the colour of the sky when it is observed from a place in the
absence of any atmosphere ?

31/1/1 3 PG,



ge=ft % IRIHUSH o HUL TR T IS 1 AT o HH ok G ek T 1 AH
AR |

‘Which class of chemicals is linked to the decrease in the amount of ozone

in the upper atmosphere of the earth ?

SfiaTo] 371X Shereh TIHTSISh g ST © | 4 7

Bacteria and fungi are called decomposers. Why ?

aﬁ%&ﬁ dcd o1 SAFF-To=ITd STa 8 a1 3Ueh! GaAlSiehal sy i i s
Thell & 7 LAY TEAT 9 o Tcdl ohl TASTohdl ka1 & ¢

How can the valency of an element be determined if its electronic

configuration is known ? What will be the valency of an element of atomic

number 9 (nine) ?

foreft ae <X <t Ty EEE 13 %

(a)  SEI SotagH -fa=ame fefau |
(b) @@ X FraogEaEefae?
(c) X’ 9Tg e a1 A &

(d) o STTES g fafan

An element ‘X’ has atomic number 13 :

(a)  Write its electron configuration.
(b)  State the group to which ‘X’ belongs ?

(c) Is ‘X’ a metal or a non-metal 7

- (d)  Write the formula of its bromide.

31/1/1



7. WA YR U S % e O o rgefiren wan fofed | @ s
aftomy T g ? ? 2

State one genetically different feature between sperms and eggs of humans.
What is its consequence ?

8. TR F NiYl =l I F foru swif¥es yads faftr =51 sw=m foman stran 21 3o @
AT AT T TR 2

List two advantages of vegetative reproduction practised in case of an
orange plant.

9.  |Had g gRT § Wfcfers 2 =R ot St g SR 2

List four properties of the image formed by a plane mirror.

10. T B9 YT JhTYT o Uael (90T G o AT § ShiE hiel o1 T5H T@d & df g8 e
SITH BT & | 1 Bl @ el O o wean fwn aeed fisH o e 3 ferfa d
TG foa Sia 2 7 38 g9 o for Ammifena yener-fertor s wifew) 2

When we place a glass prism in the path of a narrow beam of white light a
spectrum is obtained. What happens when a second identical prism is
placed in an inverted position with respect to the first prism ? Draw a
labelled 7 - diagram to illustrate it.

11. S a0 Ffi Smehier wedia giar 8 at St Yee | $6 T9TE i 1 HEd § ¢ 59
THTE o S 31 Igd I | 2

A star sometimes appears brighter and some other times fainter. What is
this effect called ? State the reason for this effect.

12. /0 ST 3 &9 1 Sl 98V o =R AT Al G SIS 2

List four advantages of water stored in the ground.

31/1/1 P 5 [P.T.O.



13.

14.

15.

16.

17

31/1/1

“w%%_aﬁ%aﬁﬁmﬁémﬁ?ﬁ%l”wmmﬁgﬁz
I |

“Burning fossil fuels is a cause of global warming.” Justify this statement.

Tt | F a2 7 32, CyH,o % 3 THTEgal ht §LeHT Wit | Teehd
uft % Tt fiF Tew % THTEE 1 6 8l Hehd 7

What are isomers? Draw the structures of two isomers of butane, C4H;,.
Why can’t we have isomers of first three members of alkane series?

F, Cl 91 Br ¥ dca & S wois o @1 daisiehdl S92 2id 8| 310 &
(i) Feraeht vy B srfYeam 2, (i) 99 we@ it sifwfsramsfiar 2 7 st
T I ! RO Afgd giE it |

F, Cl and Br are the elements each having seven valence electrons. Which
of these (i) has the largest atomic radius, (ii) is most reactive? Justify your

answer stating reason for each.

AH-F=ia W (STDs) o 31 I T AT | (i) ST AT AT (1) ITRRA
TRV T B ATe TR T § W % a1 Ierew fafed | 3 W % e |
s=Ta Toh| TehR TR ST |ehat 8, @& o 3g@ i |

Explain the meaning of sexually transmitted diseases (STDs). Give two

examples of STDs each, caused due to (i) bacterial infection and (ii) viral

infection. State in brief how the spread of such diseases may be prevented.

%e"r:ﬁﬁgw%wﬁa,ﬁﬁ%mﬁﬁg%mwimmwwaﬁa,
5@ bb gr Ffes foman man 2, & s )

(a) W Y % N9 F TT H1 3P@ hite [Seehl 39 F, diet o diei & e
FA



(b) i F it 5 e it e e ST A A e g
FRINy Sa—_—

(c) F, M@ siMuey BB 3R Bb & 31UfTa S1UTd o1 358 ahitee |

A blue colour flower plant denoted by BB is crossbred with that of white
colour flower plant denoted by bb.

(a)  State the colour of flower you would expect in their F; generation

plants.

(b)  What must be the percentage of white flower plants in F, generation
if flowers of F, plants are self-pollinated ?

(c)  State the expected ratio of the genotypes BB and Bb in the F,
progeny.

18.  Sfd 3g9a & &R aredd Eran § ¢ UH TR ekt oht gt s1se e sfa 3gva @
. gEaT el 3

What is meant by the term speciation ? List four factors which could lead to

speciation.

19. GHS S AT gEEY I & ftw fven fif) et st % @@t an
IS % G I A Frd A0t F TET 7 I w01 Aigd 9 IW i
IS - 3
Distinguish between homologous organs and analogous organs. In which

category would you place wings of a bird and wings of a bat ? Justify your

answer giving a suitable reason.

o3 Vi B 5 [P.T.O.



20.

21.

22.

23,

31/1/1

(i) STe1 % vyegyd <duil % &9 H, (ii) Sfe gdvnl % w9 § R weHR 3 il
qEg TR ST 8 7 SIcieh WeohtoT H &1 ShioT daht 3T IR ohi g8 hifsm |

State the type of mirror preferred as (i) rear view mirror in vehicles,

(i1) shaving mirror. Justify your answer giving two reasons in each case.

forelt TMiefa <9 & 45 cm 0 W fo@ Amesht & saren &1 gfafems @d |
90 cm T W fEa 96 W I B | T % TR T Tg=H I 37T 36eh! wiehd
T aftepfera shifsre | afe samen & 91 2 om € a 386k fdfews i SHaT8 F1a
Hifm| |

The image of a candle flame placed at a distance of 45 cm from a spherical

lens is formed on a screen placed at a distance of 90 cm from the lens.
Identify the type of lens and calculate its focal length. If the height of the
flame is 2 cm, find the height of its image.

FEBE 2 m 30 W @ SR W eH T 1 Y T 3@ g1 | 39 g-A
=1 ™ el e o8 o difed 8 | 39 3 =1 axiied fohe TR R s aehdr
27 39 (i) gfE -2 ae 39 (i) Tened o fore yemmer-fereor s difer

A student cannot see a chart hanging on a wall placed at a distance of 3 m
from him. Name the defect of vision he is suffering from. How can it be

corrected ? Draw ray diagrams for the (i) defect of vision and also (ii) for

its correction.

I AT ITIHTSIh] hl TS TEAT § HIT =R arar 2 ¢ e owfis @
TS & o= 1 g2 § |igA 1 TR o w9 #§ quid Aifsie | eR St A
T 9T TS o I G 1 SUH 1 a1 7 SIelt 7

HAAT



dTer 3R TOMTe 3T o o fersed e ATl e sfifer 31 A e o
it g=ht arferart o &9 1 S50 |

What is the difference between the chemical composition of soaps and
detergents? State in brief the action of soaps in removing an oily spot from
a shirt. Why are soaps not considered suitable for washing where water 1s
hard ?

Or

List in tabular form three physical and two chemical properties on the basis

of which ethanol and ethanoic acid can be differentiated.

24.  rTor ue = R ufenfya i) Sieor @ smw ditau fSad Wt
Torenfira e dfisve (stverer) e ugeET gt T B aen Frefaiad v
FifeRd it :

TTERYT, T Y, HIET I, HUSTIH | 5

AUAT

HTa o T SHA-F | (1) FI, (i) SR, (iii) Yharet, (iv) T -reteht a
(v) TIEEE U1 2T fHehT o1 H&q | 94 hiferg |
Define the terms pollination and fertilisation. Draw a diagram of a pistil

showing pollen tube growth into the ovule and label the following :

pollen grain, male gamete, female gamete, ovary.
Or

Describe in brief the role of (i) testis (i1) seminal vesicle, (ii1) vas deferens,

(1v) ureter and (v) prostate gland in human male reproductive system.

31/1/1 9 [P.T.O.



25.

31/11

Mefta gduT SR YT o Wadq & fore fog it it g=ht s s sma
W=t 39 Iiarel o1 Sy Rt U8 e g i wishe gt Fetha 1 &
%Qa‘ﬁﬁqa‘ra&méawmﬁ 16 cmﬁ@ﬁﬁ%%&ﬁ%ﬁﬂ?ﬂqwmﬁﬁ
arferes gfafens ST 7 |

T

TeRTYT 3 TSI & 39 I =1 Sg@ shifs St 1= "ream & arue fordl aream o
ST ! TR a8 | 30 T ®9 7 =36 shitey | foreft wmeam <A &
1y B’ o QY& Iqad-eh S HTETHT A 99T B H YehT3T o H=Rol 6t 91 9 fohm
TR T BT § 7 IS U HieAw =g S1ven fata € dF 39 e i wn #wd
g7

fata & amier g q91 S % SIS HAM: 3/2 W 4/3 2| AfE i # wehm
Frame2 x 105 m/s B (i) Fata, (if) St § weerer 6t =re gra Hir|

List the sign conventions for reflection of light by spherical mirrors. Draw a
diagram and apply these conventions in the determination of focal length of
a spherical mirror which forms a three times magnified real image of an

object placed 16 cm infront of it.

Or

State the law of refraction of light that defines the refractive index of a
medium with respect to the other. Express it mathematically. How is
refractive index of any medium ‘A’ with respect to a medium ‘B’ related to
the speed of propagation of light in two media A and B ? State the name of

this constant when one medium is vacuum or air.

The refractive indices of glass and water with respect to vacuum are 3/2 and
4/3 respectively. If the speed of light in glass is 2 x 10° m/s, find the speed

of light in (i) vacuum, (ii) water.

10



26.

27.

31/1/1

am e

SECTION B

TSI | Y& 1 T CuSO, T FeSO, & Se fae= i & T1 e fears

AT
(A)
(B)
(©)
(D)

HIehT B AT Eoehl tell
ERIEISIERIREEY
UEEISIR IR

RGP IR

The colours of aqueous solutions of CuSO4 and FeSO, as observed in the

laboratory are :

(A)
(B)
(©)
(D)

pale green and light blue respectively
light blue and dark green respectively
dark blue and dark green respectively

dark blue and pale green respectively

et B 3 i X § CuSO, 1 St fae@a a9t sfie Y § FeSO, &1 ™
T 3T | 9o TReTq 3 SR X H §8 @I o gohe adn de Y § e

TS TS TR | T 10 2 % T Ve o T I T8 I X A Y # R

A) e

(B) TR 3R Hieh1 &1
(C) TTEH 3R goaht Hfiem
(D) &R ST

11

[P.T.O.



28.

31/111

A student prepared an aqueous solution of CuSO, in beaker X and an
aqueous solution of FeSO, in beaker Y. He then dropped some iron pieces
in beaker X and some zinc pieces in beaker Y. After about 10 hours he

observed that the solutions in X and Y respectively appear :
(A) blue and green

(B) colourless and pale green

(C) colourless and light blue

(D)  greenish and colourless

el wret 3 g Frer ¥ fr i A e 2 7

(A) zEeh Ty Toe St 8 3R T2 o forema = e s a2 |

(B) 39! Y TSI SiHT B 3R g it ferewa sl da L gan g |

(C) ol e |k STl § 37 e et feremdl o6t et ot < 2 |

(D)  3Eeh! Ty Tk St B 7R 7% it forens it &rer # 3aT 21

Which of the following observations is true about dilute solution of acetic
acid ?

(A) It smells like vinegar and turns red litmus blue

(B) It smells like onion and turns blue litmus red

(C) It smells like orange and turns red litmus blue

(D) It smells like vinegar and turns blue litmus red

12



29,

30.

31/1/1

1S B Toh TE@Tel! § Na,CO; TIPS odT & 31 300 $© ga UHiies 3

ST & TR Yequr ot W g Tl & o 1
(A) wEAet § i stfufswa 78 gt

(B) T 3 e e < et et 2

(C) TR 3 TTadiA 78 o gerget e 2 |

(D) o &t g % Ay Ay Fswerd 2|

A student takes Na,CO; powder in a test tube and pours some drops of

acetic acid over it. He observes :

(A)
(B)
©
(D)

no reaction in the test tube
colourless gas with pungent smell
bubbles of a colourless and odourless gas

white fumes with smell of vinegar

FIE B TH WG § 4 mL W@W@Wﬁ?{ﬁﬁ4nﬁi’&ﬁﬁa€mﬁﬁm
2| TR = 3| firsr =it feemem 8 3 % forg v 3an 3| =t 10 fime & awerq
IE JUT S WITET 2 1

(A)
(B)
©
(D)

Ui 37re i Heig WS i Hag |

T 1 g W Ui 31 Heg |

IS IFANT S TG il defl WS W E |
T Ws U o |

13 [P.T.O.
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31/111

A student adds 4 mL of acetic acid to a test tube containing 4 mL of
distilled water. He then shakes the test tube and leaves it to settle. After

about 10 minutes he observes :

(A) alayer of water over the layer of acetic acid

(B) alayer of acetic acid over the layer of water

(C) aprecipitate settling at the bottom of the test tube

(D) aclear colurless solution

foreft sraaer qdur & weRa gt Fuffa w6 & fo #8817 w et gy
ettt wde form a1 wfafers aman 2 | few 7o sveraet gdu it wienw gt Fuffa
A o fore forar/ Forr gt /gt =t wvae @ 7

(A) YT AR Fora ok = AT

(B) T SR TS % e HT g

(€) qéaﬂzﬁm%aﬁaaﬁ;&

(D) o 3o 3 ol 1 gl ofv wdon o o 5 ot S g o

To determine focal length of a concave mirror a student obtains the image

of a well lit distant object on a screen. To determine the focal length of the

“given concave mirror he needs to measure the distance between :

(A)  mirror and the object
(B)  mirror and the screen
(C)  screen and the object

(D) screen and the object and also mirror and the screen

14



32. ol v 3 srader gdur T ST e gl st firet ot 98 W ik foRa |
39 T31ereh Weted 7 97 feuquft <t foh 3R 31=e afomy wre e o forg 34 foreft
efifa wd grey forer (g2 =t s ad gU) 98 W sk iid ST STTeT | 9%k
foTe 3@ T ot 9 R =R ? _ 2
(A) U I YU H SR AT L ST =M |
(B) o s S A i A R
(C) U< ud gdur =t forrs & & ST =MfR |
(D) U< Ud g Skt fores ot 3T o ST =R |

A student obtained a sharp image of the grills of a window on a screen
using a concave mirror. His teacher remarked that for getting better results
a well lit distant object (preferably the sun) should be focussed on the

screen. What should be done for this purpose ?

(A) Move the screen slightly away from the mirror

(B) . Move the mirror slightly towards the screen

(C)  Move the screen and the mirror away from the object

(D)  Move the screen and the mirror towards the object

33, forelt grey fomr o1 we W wfiforma e stk 3Tt o ol ieRd gt fefied o o
foru 20 wm=ra: e o e e =R SuAT § S wel A A 2 1
(a) o = forar 3R 9e o ofi= e |
(b) @\ 3R 9 3 <= it gt wifug
(c)  wehiwifa wdea gy form g
(d)  TEFTIET s B R ot o |- U8 o Tau |
(e) =i il feufe =1 wamnferg wneeh w8 ot formr o1 v widferst smEU |

31/1/1 15 | [P.T.O.
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TN FI AR HA B -

(A)
(B)
©
D)

cadeb
c,d,a.e;b
c,d,e ,a,b

c,a, e, d b

To determine the focal length of a convex lens by obtaining a sharp image

of a distant object we generally follow the following steps which are not in

proper sequence.

(a)
(b)
(©)
(d)
(e)

Hold the lens between the object aﬁd the screen
Measure the distance between the lens and the screen
Select a well lit distant object

Place a screen opposite to the object on the lab .table

Adjust the position of the lens to form a sharp image

The correct sequence of these steps is :

(A)
(B)
©

(D)

c,a,d, e, b
c.d;a.e.b
G e b

¢ aed.b

16



34.

31/1/1

T % AFAHR T § o T Al h0T 1 3@ Hd T T foremeff
TG R0 (i), TGS I (Lr) q9n Ffa Hor (Le) & fG@m T 3gER

ferd tar 2 | 3T TR ShioT 31T ShIv ahl ieh 3fehd A=t foma 7

(A)
(B)

(©)
(D)

B P4

199l Lr

1997 Le

ra9t Le

A student traces the path of a ray of white light through a rectangular glass

slab and marks, the angles of incidence (£i), refraction (£r) and emergence

(Z¢) as shown. Which angle or angles has he not marked correctly ?

(A)
(B)
©)
(D)

/1 only

Ziand Zr
Ziand Ze
Zrand Ze

17 [P.T.O.



35. T % STFAIHR Tie ¥ A areft {3t s it foeor 1 o uy died @9
Toreft B 3 31 Yegor 9 few srgEm arvfieg fu:
H & /i Lr Le
I 60° 40° 61°
11 50° 36° 51°
I11 40° 28° 39°
IV 30° 20° 31°
T TE A0 R -
A) I
(B) 1I
(C©) 11
(D) 1Iv
While tracing the path of a ray of light passing through a rectangular glass
slab a student tabulated his observations as given below :
S. No. /i ik Ze
I 60° 40° 61°
II 50° 36° 51°
111 40° 28° 39°
1A% 30° 20° 31
The correct observation is :
(A) 1
B) 1
(C©) 11
(D) 1V
31/1/1 18




36.

317141

forelt o ot st § forgve it Tumlt wrgs w1 Yo T 7 | gaweRft § o
! HIshfHd i o fore = faw e fafsra =won =1 w& 3 31 Hise |

(a)

(b)
(c)

(d)
(A)
(B)
()
(D)

TAES ! U9 W G, AFeR ¥ Rau au g it aumiisg ek 3tad
TRT9 I it |

Y& GHESY U= 3T ITART FHieh WATSE oh 1507 B hiTod |

ARt § S BT SATETTe o i TE THEST U g T o sk
B d ST 3315

TR H TEd gU WSS FI 36 YR SIS 1 for fewms ¢ @)
d,c,b,a

ab.d ¢

a,d,c,b

acdb

A student has to observe a permanent slide of binary fission in amoeba.

Find the correct sequence of steps given below for focussing the object

under a microscope.

(a)

(b)
(c)

(d)

(A)
(B)
(©)
(D)

Place the slide on the stage, look through the eye-piece and adjust
the mirror to get proper illumination.

Focus the slide sharp using fine adjustment screw.

Look through the eye-piece and raise the objective lens using coarse
adjustment screw till the object is focussed.

Look through the eye-piece and move the slide till the object is
visible.

d,c,b,a

a,b,d, c

a,d,c,b

B.cdb

19 [P.T.O.



37. fafir wimgst &1 Qe A & yvaq fordt v 3 9 foy e e ©ie | 3 9w
3 g it St o fgave geiar 2 :

(a) (b) () (d)

A) a |
B) b
) ¢
(D) d

After viewing different slides, a student draws following diagrams. Select

the one which depicts binary fission in amoeba.

(a) (b) (c) (d)

(A) a
B) b
© ¢
(D) d

31/1/1 20



38.  avfien A fymued 3R v & gepor i witgel 1 Y& A % uvErq A @ T

& 9T B : 1

(a) 3T QT AR Y Ushel hITNTERISTT T ot fgfaersi qen ggper & @
o

(b) Iz FifEER 9w - foat foan
(c)  rftan ¥ drefford Fwze 31 Hald shsehl bl S o foTQ farTfora 2 Tar 9|
(d) 37§ S o RO ghell shl et fe@TE €|

T ER YHu /3
(A) a3Mc
(B) Haatb

(C) c3Mmd
(D) d,a3fRc

After observing the prepared slides of binary fission in amoeba and
budding in yeast following observations were reported :

(a)  Single cells of amoeba and yeast were undergoing binary fission and
budding respectively.

(b)  Cytokinesis was observed in the yeast cell.

(c)  Elongated nucleus was dividing to form two daughter nuclei in
amoeba.

(d) A chain of buds were observed due to reproduction in amoeba.

The correct observation(s) is /are :

(A) aandc
(B) Dbonly
(C) candd
(D) d,aandc
31/1/1 : 21 [BTEO.




39. Torelt B A TTEE GG % v A | e i A U wE 9 et St we
EEEE

catior T <§
(a) (b) (c) (d) (e)

T BE 0 B AR
(A) b,c,d, e, a
B). boe dea
(C). b.doeca
(D) b,d,c,ea

A student after viewing a prepared slide illustrates the budding in yeast in

the following order which is not correct :

o @ @ &

(a) (®) (c) (d) (e)
The correct order should be :
(Al be,ded
(B) b,e,d,c,a
(C) b,deca

(D) b,d,c,e, a
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40. Trufist S ey 3 g2 o § R F wvE 6 g sEviia s
Sfcrerere F1d A % fore femmrfirett o stfm W dieH | T8 37 W e ki
EREIRCRIEIGIEE 1
(A) Gt U § IR-ofi TrEe
(B) T A R (SEMR) FR
(C) wgEiEzT
(D) e gm

Dry raisins were soaked in water for 2 hours, to determine the percentage of
water absorbed by raisins. Before final weighing of swollen raisins, the

extra water left on the surface of soaked raisins was removed by :
(A) gently tubbing with cotton cloth

(B)  hot air blower

(C)  dry cotton wool

(D) filter paper

41. Torufaen gro saenfd St St wfaeraan a0 =1 990 S 99 Tt 8 A
Freferfaa am o - | _ 1

1ot T 9 STl 1 5599 = 40 g

fire @ g frmfimn s semm =5 g

2 512 7 i g% foprfiii A semm = 8 g
TN o YT 1o H o A T ST M =35 ¢
fepwTfarett g stamfeT ste it wferdar 2 -
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40 g —35

@A) —5_"28 100
35g

(B) wag
40¢g

§5. 5
©) 288,100
8¢g

8g—35g

(D) ———x100

5g

While performing the experiment with raisins to determine the percentage

of water absorbed by them, a student made following measurements :
Mass of water in the b.eaker =40 g

Mass of raisins before soaking =5 g

Mass of raisins after soaking for 2 hours =8 g

Mass of water left in the beaker after the experiment =35 g

The percentage of water absorbed by raisins is :

40g -
TR ) SOl
35¢g
40 g —
(B) ___g_.i,g_xlgg
40¢g
8g—5
© ZEB28.400
8g
8g—
@) SBT38 100
S8
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